What is this?

You see this:
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But the camera sees this:
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Computer Vision: Car detection

Testing:

What is this?
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Neural Networks:
Representation

Model
representation |
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Neuron in the brain
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Neuron model: Logistic unit _ o
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Neural Network
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Neural Network ) e |
- q;”’ = “activation” of unit zin layer j

—, O) — matrix of weights controlling
function mapping from layer 7 to

' - layerj + 1
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Simple example: AND
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Example: OR function
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—> I AND L9 ~=> I1 OR i)

Negation:
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Putting it together: 1 XNOR x5 ﬁ%
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Neural Network intuition
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Motorcycle
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Multiple output units: One-vs-all.
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